Er-5 < 0 R ES P IRBR P A X S

it
M
H
o))
ol
aj
=

1 F ¥ 4
FTRBR S & Wil v B3 T (£ 0 3)

k=1110}
i
\

V.

ped}
>
rGay
=
=i
=i
i

2 FEOME

FIT ORISR PG 11 A X T 3 B PN A RV LR T S 2 0 T B T ORUBR
SNHVIEB Y FIZIBN T, BEAKFTIRM E ZET D7 X — 250
WKL DRy 7 2T N "= (MR SR OMIEY) % i
THLOTH D,

3 fhEREOEL T 5 BRE
filt D AR AIZ I T b o i DT B B A 56 (P W o 36 X PN o0 AT R T
OB T 2 F LTV D,

4 THRZNOEGBORELZONE
L

5 PBAMRIES. EAGEE OEAME
W HIRIE, W BIRERAT S, TiRITES ORI T~ RO LT

S PE D B4 ST AL 53 (2 B3 % SR B

6 FEENMDTEOMIHE

(F¥#E) THH 304, 000, 000
() EHESH4E 115, 147, 000 [
17 1E 169, 900, 000 H
— i o I 18, 953, 000 [

- 111 -



7T ZFOM
IS AT & B
O ARLRERZE (B 1)
©@ WEHETORKE (B 2)
@ T (Bl 3)

- 112 -



B 1
A KL A R F
(BAH7 : F9)

T F 4 | FFRERSIHVIE D B T3 (F0 3)

® R & @ 303, 774, 900
T oooE 303, 774, 900
2K T B e B 294, 657, 000
% kL R 97. 00%

PAFLHIRGET | AR 448 H 2 B (K) 7FRT9 Kf 00 43 BB+ AFLY AT A K D BHAL

A KL %H
PE 5 X4 TR (-2
251 [A] %52 1A

]\ =D, =Ju > N

[y 2 i 267, 870, 000

WA R RS 273, 600, 000
FL

e Fn i Bl ZE R N 275, 000, 000
=

AFL LR BT HEZEHED 100 290D 10 [FAY T 2 @EH 2 NG L7 @A 7 A TAHE Lo BIAZ )% &
HTHD,

- 113 -



BIAR 2

RERHKI £ TOREIH

— B e AL o FHoOR SFAETH 193 (k)

ORI OE M OE B s B
SF4ETH 198 (k)
(BT AFLY AT AIZHTR)

H: 84447 H 198 (k)
AN KL = 0 oA £ 1 8

EASMAETH22HB (OK)

H:mf4FETH29H (@)
A fL F o o M

E:aM44E8H 10 (A)

3 FL S48 H 2H (K)

i e iy H S48 H 48 (OK)

- 114 -




BIHE 3
T = M %=

T F 4 FBRSHVIE D G TH (20D 3)
T 5 AT PR E S A

seak L SF543 H31H

TEHEANE HHiEEEITRBRSILB VIR BRICBW TRy 7 AL
N— N ZHET 5,

(1) BE¥t+T —x
(2) BIGFTHHET KRy AB N N— FikE
(hg - 17.8m X Em & : 7.6m X E X : 15m) 1 A
(3) ek L Blbi#Tex WL : 17.5m) 58 A<
RibtFIEt (FL& ¢ 15.5m) 6 A
R R B 1,168 m
4) fHH T —
z N X
e 1-830 B8
N o e ) N
f \ @
/ \ FFRER
I \
\
|
| V' ooy
| AR
1 &\
I e @\;ﬁ% \\
(IO HREREE O =§$ b
| g | THEEEEERE 5% \
W \
.- AN
| 1
\
\ M EER \
\ FERERS N HLEY 8 e
\ r~_1
1 e I (Y % 1
- [ § b < oy
\ e THER
o3l % 710
!glg\ //
IS
Rigg

- 115 -



6 [

1IE

17800
900, 4000 0 1000 0! 4000 900
160 17500 _1H0
5/ _GH=74. 150
v 14.350
< 7
3 2 12.998
3 ML
v T11.326
g 70.526
\—,’ E} \
1/ \
an % -‘ﬁ\
i it
g 8
g 2
g
o
65,244
V_64.726
= % v _63.726
2
= 62 273
Al
»F 3
N X 55
7 15000 o
1 14380 0
1740, 9%1500=13500 40
0
74,350 ’;9
% 73.692 .
-1
e &
o4
S7_11.326 i B
e S 1
7 70.526 7 70. 421 )
S +
- 7 _69. 621 %
Lo
S =
= g 67. 871 2
I= = =
8 3 7 67,121 &
- g 8
=t 2
= / 65.826
7 3
= 7 64.726 / 64.790 £
—_— =
o 63. 726 763,821 >,
3 7 62,821 %
- 62.273 /62,202 =

- 116 -




